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ﬁ) This question paper comprises four sections - A, B, C and D.
This question paper carries 40 questions. Aﬁqumionammmpum

(i) Section A - Question no. 1 to 20 comprises of 20 questions of one mark "Ilj
each.

; (i) Section B - Question no. 21 to 26 comprises of 6 questions of two
fit) Section C- Question no. 27 to 84 comprises of 8 questions of three '
| marks each.
{v) Section D - Question no. 85 to 40 comprises of 6 questions of ﬁur

marks each.

(vi)  There is no overall choice in the question paper. However, an internal
choice has been provided in 2 questions of one mark each, 2 questions of
two marks each, 3 questions of three marks each and 3 questions of four
marks each. You have to attempt only one of the choices in such
questions.

(vii) In addition to this, separate instructions are given with each section
and question, wherever necessary. 2

{viii) Use of calculators is not permitted.

Section - A

i Question numbers 1 to 10 are multiple choice questions of 1 mark each.
~ You have to select the correct choice :

. In fig. 1, the graph of the polynomial p(x) is given. The number f
ﬂ. " 8 giv number of zeroes of




The value of k for which the points A (0, 1), B 2, k) and C(4. -5) are |

@2 b) -2 (c) 0 @4 -
HﬁAEE*ﬁHEquhthatﬁ.ﬂzLEmmdﬂﬂt1.4m,:liernﬂnufth&
areas of A ABC and A DEF is

(@) 49:36 (b) 6:7 fe) 7:6 (d) 36 : 48
The HCF of 135 and 225 ia

() 15 ) 75 {c) 45 (d) &

Thémnfzinthepﬁmeﬁﬂwimtimdlﬂin
fa) 2 b) 4 fe) 1 d) 6

The commaon difference of an AP, whﬂun‘htamilnn=(-’h+1’}.il
fa) 3 b) 7 (e} 10 d) &
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1% e probability that it will rain tomorsow is 0.86. What s the probability

that it will not rain tomorrow ?

S0 18 Using the empirical formula, find the mode of « distribution whose mean
-4 88.32%nd the median is 805,

19 _hﬂ.htcimuhrmnuhwethmrh-miuthnnth 1:3 and radii in the
Fatio 3 : |, what is the ratio of their volumes ?
2. Wx=nsinbandy=boos o, write the value of (b & + a® v9).

Section - B
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f the mean o the following disribuu
mETARY T

L B8 | 810 | 10.12 | 1314
-+ e e B
imie [ s 11wl p | 8 | &

| @'hlhlb"nfﬂ:hhdnn. find the probability of having at least ane boy.

% In Fig 4, PA is & tangent from an external paint P to a circle with centre
0. If £POB = 115", find ZAPO.

A

Fig. 4.
Section - C i:,f||‘*=

Q. Nos. 27 to 34 carry 8 marks each. _".;;f.
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On dividing ¥ - 3 + ¥ + 2 by a polynomial g(x). the quotient and =
remainder were x - 2 and ~2x + 4 respectively. Find glx). o
OR
If the sum of the squares of zeros of the quadratic polynomial

fix) = 2° - Bx + k is 40, find the value of k.

( 4';, Find a, b and ¢ if it is given that the numbers a, 7. b, 23, c are in AP.
OR

If m times the m" term of an AP is equal to n times its n*™ term, show that
the (m + n)® term of the AP is zero.

Solve for x
T :
*+4 x-7 30 ¥FL

_! g(Shnw that the points A (-1, 1), B (5, 7) and C (8, 10) are collinear.

34. If the areas of two similar triangles are equal, then prove that the
triangles are congruent,

Section-D
Q. Nos. 35 to 40 carry 4 marks each.

".'.":;5( If the angle of elevation of a cloud from a point 10 metres above a lake is

3&:’ and the angle of depression of its reflection in the lake is 60°, find the
height of the cloud from the surface of lake.

OR

.A vertical tower of height 20 m stands on a horizontal plane and is
surmounted by a vertical flag — staff of height h. At a point on the plane
thn angle of elevation of the bottom and top of the flag staff are 45° g,mi
60° respectively. Find the value of k. :
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" Jn an equilateral triangle ABC, D is a point on the side BC mﬁ that H
BB=§BG Prove that 9 AD? = 7 AB?.

OR :

Prove that the sum of squares of the sides of a rhombus is equal to the
sum of the squares of its diagonals,

¥
1

'- ‘@)Shnw- that (12)" cannot end with digit 0 or 5 for any natural number n.
NP OR

Prove that (2 + *JE_J. is irrational,

@ For the following frequency distribution, draw a cumulative frequency
~ eurve of ‘more than’ type and hence obtain the median value.

~ |Classes 0-10 [ 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70
[Frequency | s LB 1202 | 19 et s
e 1 r:
WA fraction becomes 7 when 1 is subtracted from the numerator and it s
83 When 8 is added to its denominator. Find the fraction, R i
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